BT TRIA O - HESHEE R < 425211 F05 A KIBHE
s s A i O
BT T2 MRl T8 T =% BT % Mg T8 T =%
HX 36,624 87,284 41,951 45333
BIRENT 4 11 5 6
RIRET2T 27 59 33 26
RIRETIT 55 171 84 87
RIRET4T 377 992 489 503
B 463 1,233 611 622
REH 2,477 6,253 2,966 3,287
L&A 3,947 9,303 4,427 4876
5E 2,326 5,857 2,854 3,003
B AN 1,202 2,878 1,341 1,537
BEET 1,029 1,748 842 906
BER2T 841 1,667 781 886
BER3T 848 1,650 797 853
B 2,718 5,065 2,420 2,645
BEXRE 241 656 321 335
= 2,041 5,174 2,467 2,707
hERE 610 1,568 723 845
e 2,253 5,327 2,579 2,748
25 L ET 2,184 5,350 2573 2,777
B &AL BT 74 171 72 99
BEFEILET1T 584 1,399 656 743
HEFILET2T 588 1,448 697 751
HEF RT3 T 519 1,294 622 672
g 1,765 4,312 2,047 2,265
B & it B Fr ET 622 1,552 759 793
B & HEF T 1 1 0 1
BHERERETTT 591 1,283 613 670
BHEFERET2T 621 1,456 706 750
BHEFERET3T 746 1,779 846 933
BHEHERET4T 459 1,099 527 572
BHEFERETST 790 1,784 856 928
BHEHEFEET6T 845 2,097 1,020 1,077
HEFMRETTT 834 2,075 1,008 1,067
HEHEFEETST 41 114 52 62
g 4928 11,688 5,628 6,060
HEF R FET 1,710 3,819 1,861 1,958
5| EFET1T 555 1,517 766 751
5| EFHT2T 749 1,880 908 972
5| BFHT3T 704 1,511 739 772
g 2,008 4,908 2,413 2,495
ERENT 523 1,338 649 689
EIZET2T 259 627 307 320
EIREI3T 464 1,354 667 687
EIZETAT 655 1,596 760 836
EIZEIST 489 1,054 539 515
g 2,390 5,969 2,922 3,047
ME A 2,627 6,127 2,925 3,202
J\THENT 29 31 10 21
J\THET2T 27 76 38 38
J\THEI3T 56 138 66 72
B 112 245 114 131
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